Client: Sunday Times

Agency: Panelbase

Universe: Adults resident in GB
Methodology: Online

Sample size: 1006

Fieldwork dates: 31 March - 2 April 2015

Weighting: All the results were weighted by age, sex, region and SEG and
voters were also weighted to match the 2010 UK election result.

Further enquiries: Ivor Knox, ivork@panelbase.com

Twitter: @panelbaseMD



JIN:W6836w2_GB

Base: 1,006 Total Gender x Age SEG
Male x 18- Male x 35- |Male x 55+] Female x | Female x | Female x | ABCL CanE
34 54 18-34 | 35-54 55+

Total 1006 146 73 72 42 175 156, 553 453
(1006) (92) (189) (189) (144) (191) (201) (639) (367)
100%|  100%.  100%  100% _ 100% _ 100% _ 100%|  100% _ 100%
Do you support or oppose | Base: All 1006 136 173 172 142 175 196 553 253
(-Athe renewa) of the Trident (1006) (92)  (189)  (189)  (144)  (191)  (201)| (639)  (367)
4 Strongly support 123 is 37 a5 3 io 1| 81 a1
12% 13% 15% 26% 4% 6% 8% 15% 9%
37 Slpport 74 ) 55 ) 17 31 50 ) 105
27% 40% 329% 36% 12% 18% 25% 31% 23%
3 Gppose 143 is 31 33 29 37 37 80 6
14% 10% 12% 13% 209% 15% 14% 14% 14%
1"Strongly Oppose 110 i7 51 is s %6 18 55 54
11% 11% 12% 11% 6% 15% 9% 10% 12%
Don't know/ Not sure 359 37 45 33 84 81 85 167 183
36% 25% 28% 13% 58% 46% 4% 30% 429%
Mean score 26 27 27 29 23 23 26 27 25
Do you support or oppose | Base: All 1006 146 173 172 144 175 196 553 a53
m;:::'r';us"t'g fe“;‘:i:me (1006) (92) (189) (189) (144) (191) (201) (639) (367)
country’s debt 4 Strongly support 153 34 32 33 13 12 23 54 55
15% 23% 19% 23% 9% 7% 11% 17% 13%
37 Support 391 6 60 74 50 74 87 240 151
39% 31% 35% 43% 35% 42% 44% 43% 33%
3 Oppose 181 28 34 31 20 32 E 86 55
18% 19% 20% 18% 14% 18% 18% 15% 21%
1""Strongly Oppose 112 24 20 21 2 18 17| 56 55
11% 16% 11% 12% 9% 10% 9% 10% 129%
Don't know/ Not sure 168 15 7 8 a8 E) 34 77 3
17% 10% 15% 5% 33% 22% 17% 14% 20%
Mean score 27 27 27 28 27 26 27 28 26
Do you support or oppose | Base: All 1006 146 173 172 144 175 196 553 a53
i;:h;treEIfnotrr(;de‘;:tl:r;::n?nsgDp (1006) (92)  (189)  (189)  (144)  (191)  (201)| (639)  (367)
over £150,000 47 Strongly support 359 64 75 61 36 58 64 198 161
36% 44% 4% 35% 25% 33% 320% 36% 35%
37 SUpport 344 5 52 67 50 61 68| 192 153
34% 31% 30% 39% 35% 35% 35% 35% 34%
3 Oppose 53| 17 16| i6 i3 i3 18| 5 a3
9% 12% 9% 9% 9% 7% 9% 9% 9%
1~ Strongly Oppose 44 4 10 10 7 5 8 34 10
4% 3% 6% 6% 5% 3% 4% 6% 20%
Don't know/ Not sure 168| 15 is 18 38 33 39| 81 87|
17% 10% 11% 10% 26% 22% 20% 15% 19%
Mean score 332 33 33 332 31 33 32 32 33
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JIN:W6836w2_GB

Base: 1,006 Total | DId you vote in the 2010 UK Parliamentary Election which led to David Cameron becoming Prime Minister? If 2015 Intention
S0, who did you vote for?
Conservative Labour Liberal SNP UKIP Green Party Other Did not |Conservative Labour Liberal SNP UKIP Green Party | Plaid Cymru Other Don't know
Democrat vote/Can’t Democrat
remember

Total 1006 300 242 192 14 26 8 32 193 251 264 56 28 135 20 7 10 168|
(1006) (321) (205) (178) (33) (44) (19) (13) (193) (270) (238) (53) (37) (140) (45) (5) (6) (167)
100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Do you support or oppose Base: All 1006 300 242 192 14 26 B 32 193 251 264 56 28 135 20 7 10 168
(-Athe renewa) of the Trident (1006) (321) (205) (178) (33) (44) (19) 13) (193) (270) (238) (53) 37) (140) (45) (5) (6) (167)
4 'Strongly support 123 66 33 8 i 7 ) 3 11 51 18| 3 [) 33 3 i i ]
12% 2200 9% 4% 4% 28% 0 20% 5% 20% 7% 11% 0 23% 5% 15% 11% 5%,
37 Support 274 106 72 49 1 4 1 5 36| 102 80 17 3 28 5 ) 4 29|
27% 359% 309% 25% 9% 16% 16% 15% 18% 40% 309% 29% 10% 21% 129% 28% 399 17%
3 Oppose 143 33 a3 35 3 5 [ 11 23 18| 53 13 i 26 3 [) i 17|
14% 8% 18% 18% 2200 18% 4% 359% 11% 7% 20% 219% 14% 15% 15% 0 43% 10%
1~ Strongly Oppose 110 18 32 32 6 0 2 0 19 7 28 6 is 2 it i ) 15
11% 6% 13% 17% 46% 200 319 ° 10% 3% 10% 10% 54% 9% 47% 10% ° 9%,
Don't know/ Not sure 359 87 72 68 3 ) i 10 106 75 86 16 3 s ) 3 i 57
36% 209 30% 35% 19% 36% 50% 319% 55% 30% 329 28% 23% 329% 229% 47% 8% 58%
Mean score 26 3.0 25 23 16 31 17 28 24 31 25 2.6 14 2.9 17 2.9 2.7 25|
Do you support or oppose Base: All 1006 300 242 192 14 26 B 32 193 251 264 56 28 135 20 7 10 168
m;:::'r';us"t'g austenity (1006) (321) (205) (178) (33) (44) (19) (13) (193) (270) (238) (53) 37) (140) (45) (5) (6) (167)
country’s debt 4 'Strongly support 153 86 20 20 i 5 i [ 20 82 21 § [ 23 § [ i 8
15% 28% 8% 11% 6% 20% 9% ° 10% 33% 8% 14% 1% 17% 12% 0 119% 5%,
37 Support 391 168 67 8 5 ) 2 1s 58| 141 68 26 [ 58 13 6 3 58|
39% 56% 28% 35% 38% 349% 309% a6% 309% 56% 26% a6% 28% 43% 320 20% 28% 359%,
3 Oppose 181 17 70 Q4 3 7 1 [3 33 [3 80 16 10 24 [3 [ 3 39|
18% 6% 29% 23% 23% 27% 11% 20% 17% 2% 30% 28% 34% 18% 15% 0 229% 17%
1~ Strongly Oppose 112 5 51 28 4 2 2 3 17| 0 55 5 ) 16 13 i i 10
11% 206 21% 15% 26% 7% 229% 9% 9% ° 21% 9% 33% 119% 31% 10% 8% 6%,
Don't know/ Not sure 165 25 33 31 i 3 3 § 66 23 40 3 i 15| 3 [ 3 63
17% 8% 13% 16% 7% 12% 27% 25% 34% 9% 15% 3% 4% 11% 9% 0 32% 38%,
Mean score 27 32 23 25 23 28 24 25 26 33 22 27 2.0 27 23 28 26 24|
Do you support or oppose Base: All 1006 300 242 192 14 26 B 32 193 251 264 56 28 135 a0 7 10 168
ga‘:hl'ea{:?ntrr%i‘;:ﬁ:r;::n?nsgup (1006) (321) (205) (178) (33) (44) (19) (13) (193) (270) (238) (53) (37) (140) (45) (5) (6) (167)
over £150,000 4 Strongly support 359 77 103 75 7 11 5 25 55 63 117 13 18 53 36 7 3 47
36% 26% 2% a19% 529% 2% 61% 68% 28% 25% 4a% 23% 63% 399% a99% 100% 60% 28%
37 Support 344 116 95 68 3 6 1 6 55 81 103 29 8 47 10 [ i 55|
34% 37% 399% 35% 20% 25% 18% 19% 28% 32% 399% 51% 29% 35% 24% ° 11% 339%,
3 Oppose 53 41 5 2 i 3 i [ 1| a1 i 7 i i 3 [) [) 3
9% 14% 4% 11% 9% 9% 7% ° 8% 16% 4% 13% 4% 8% 6% 0 0 8%
1~ Strongly Oppose 44 22 5 3 [ 1 [ [ 13 21 2 3 [ 7 3 [ [ §
4% 7% 2% 2% ° 6% ° ° 7% 8% <1% 6% ° 5% 5% ° ° 4%
Don't know/ Not sure 168 51 36 i3 3 5 1 i 54 47 31 Pt 1 18 7 o 3 g
17% 17% 13% 10% 19% 18% 14% 13% 28% 19% 12% 7% 3% 13% 17% 0 29% 28%
Mean score 32 30 34 33 35 33 36 38 31 29 34 30 36 32 34 4.0 38 33|

osiorzo1s ranelbase.com



JIN:W6836w2_GB

Base: 1,006 Total Gender x Age SEG
Male x 18- | Male x 35- [Male x 55+ Female x | Female x | Female x | ABCL C2DE
34 54 18-3¢ | 35-54 55+

Total 1006 146 173 172 144 175 196 553 453

(1006) (92) (189) (189) (144) (191) (201) (639) (367)

100%|  100%  100%  100%  100%  100% _ 100%|  100% _ 100%

Do you support or oppose Base: All 1006 146 173 172 144 175 196 553 253

m?g;f;ﬂfﬁ':,g:’;:; powers (1006) (92) (189) (189) (144) (191) (201) (639) (367)

Northern Ireland 4 - Strongly support 105 19 21 22 13 19 11 44 61

10% 13% 12% 13% 9% 11% 6% 8% 13%

37 Support 270 68 48 P 34 44 33 159 111

27% 47% 28% 25% 24% 25% 17% 29% 25%

3 Oppose 204 8 37 39 16, 75 54 125 75

20% 19% 229% 23% 11% 17% 28% 23% 17%

1~ Strongly Oppose 118 16 16 40 5 17 24 80 38

12% 11% 9% 23% 3% 10% 12% 14% 8%

Don't know/ Not sure 308 14 51 37 76 66 74 141 168

31% 10% 30% 16% 529% 38% 38% 25% 37%

Mean score 25 27 26 23 28 26 23 24 27

How would you feel about Base: All 1006 146 173 172 144 175 196 553 253

::ﬁ(’xvic"°;§:d;"cg°:§ft'i‘o‘;f :f"e (1006) (92) (189) (189) (144) (191) (201) (639) (367)

support? ...scrapping the Twould support this 264 54 3 43 40 51 43 147 117
renewal of the Trident nuclear |concession

detorrent? 26% 37% 20% 25% 28% 29% 22% 27% 26%

T would oppose this concession 403 52 88 108 25 51 79 247 156

::gt‘r'"::'ﬁ:cﬁg:r there to be 40% 36% 519% 63% 17% 29% 40% a5% 349%

Bon't know/ Not sure 335 40 51 22 80 72 74 159 180

349% 27% 299 13% 55% 1% 38% 29% 40%

How would you feel about Base: All 1006 146 173 172 144 175 196 553 253

::ﬁ(’xvic"°;§:d;"cg°:§ft'i‘o‘;f :f"e (1006) (92) (189) (189) (144) (191) (201) (639) (367)

support? ...reducing austerity [T would support this 379 45 48 47 27 56 51 145 134
measures and increasing concession

taxation Matead 28% 34% 28% 27% 19% 32% 26% 26% 30%

Twould oppose this concession 483 75 82 106 54, 68 58 295 187

::stn':fﬁ;;?;:r there to be 48% 51% 47% 62% 37% 39% 50% 53% a1%

Bon't know/ Not sure 244 22 43 is 63 51 47 112 133

24% 15% 25% 11% 4a% 29% 24% 20% 29%

05/04/2015

ranelbase.com



JIN:W6836w2_GB

Base: 1,006 Total | DId you vote in the 2010 UK Parliamentary Election which led to David Cameron becoming Prime Minister? If 2015 Intention
S0, who did you vote for?
Conservative Labour Liberal SNP UKIP Green Party Other Did not |Conservative Labour Liberal SNP UKIP Green Party | Plaid Cymru Other Don't know
Democrat vote/Can’t Democrat
remember
Total 1006 300 242 192 14 26 8 32 193 251 264 56 28 135 20 7 10 168|
(1006) (321) (205) (178) (33) (44) (19) (13) (193) (270 (238) (53) (37) (140) (45) (5) (6) (167)
100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
Do you support or oppose Base: All 1006 300 242 192 14 26 B 32 193 251 264 56 28 135 20 7 10 168
further devolution of powers
Lo Scotland. Wales and (1006) (321) (205) (178) (33) (44) (19) 13) (193) (270) (238) (53) 37) (140) (45) 5) (6) (167)
Northern Ireland 4 Strongly support 105 15| 35 18] 10 i [) 3 1| 15| 28 3 26 i1 14 3 [) ]
10% 6% 16% 10% 69% 4% 0 7% 8% 6% 10% 4% 70% 8% 34% 33% 0 5%
37 Support 270 64 80 61 3 7 1 5 49 59 54 18 4 33 11 3 [) 34
27% 21% 33% 32% 21% 29% 18% 15% 25% 24% 36% 32% 15% 25% 27% 38% 0 20%
3 Oppose 204 88 a5 35 i 5 i 3 23 78 46 § P 27 3 [) [) 35|
20% 299 19% 20% 6% 20% 8% 6% 12% 31% 17% 16% 14% 20% 6% 0 0 21%
1~ Strongly Oppose 118 60 16 15 1 7 1 4 14 a2 22 10 i 24 i [) 3 12
12% 20% 6% 8% 4% 29% 7% 13% 7% 17% 8% 17% 2% 18% 3% 0 32% 7%,
Don't know/ Not sure 308 70 62 58 [ 5 5 18| 50 57 74 i8 [) 40 i3 3 7 77
31% 23% 25% 30% o 19% 67% 599% 47% 23% 28% 31% 0 29% 30% 29% 68% 46%,
Mean score 25 22 28 26 36 21 23 24 26 22 27 23 35 23 33 35 10 2.4
How would you feel about Base: All 1006 300 242 192 14 26 B 32 193 251 264 56 28 135 20 7 10 168
them conceding each of the
folowing as a condition of (1006) (321) (205) (178) (33) (44) 19) 13) (193) (270) (238) (53) 37) (140) (45) (5) (6) (167)
support? ...scrapping the Twould support this 264 52 82 63 s i 3 [3 43 36 53 18] 18 33 25 i [) 28|
renewal of the Trident nuclear |concession
detorrent? 26% 17% 349% 33% 62% 15% 37% 18% 23% 14% 35% 32% 64% 24% 62% 10% 0 17%
T would oppose this concession 403 170 87 63 4 16 1 11 51 143 50 25 6 70 [3 3 [3 47
d would prefer there to b
o thor elestion Cretone 40% 57% 36% 33% 28% 60% 16% 349% 27% 57% 349% 4a% 20% 52% 16% 43% 57% 28%
Bon't know/ Not sure 335 75 72 65 i 3 i 15| 57 72 81 14 P 32 [ 3 i 53
349% 26% 30% 349% 10% 25% 8% 47% 50% 29% 31% 24% 16% 24% 22% 47% 43% 55%,
How would you feel about Base: All 1006 300 242 192 14 26 B 32 193 251 264 56 28 135 20 7 10 168
them conceding each of the
folowing as a condition of (1006) (321) (205) (178) (33) (44) (19) 13) (193) (270) (238) (53) 37) (140) (45) (5) (6) (167)
support? ...reducing austerity [T would support this 379 43 103 74 5 [ 3 7 36 33 115 bt 14 39 14 3 3 33|
measures and increasing R
taxation Matead 28% 14% 439% 399% 35% 35% 30% 22% 19% 13% 4a% 35% 52% 29% 34% 28% 18% 20%
Twould oppose this concession 483 221 81 70 5 14 2 7 82 182 88 28 ) 72 is 3 4 59|
d would prefer there to b
o thor olestion cretope 48% 74% 349% 37% 399% 55% 29% 22% 42% 72% 33% 50% 33% 53% 47% 43% 399% 35%,
Bon't know/ Not sure 244 37 58 a7 P 3 3 it 75 36 61 [ i 25 [ 3 i 76|
24% 12% 24% 25% 26% 10% a1% 56% 399% 14% 23% 16% 15% 18% 20% 29% 43% 45%,
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ranelbase.com



JIN:W6836w2_GB

Base: 1,006 Total Gender x Age SEG
Male x 18- | Male x 35- Male x 55+ Female x | Female x | Female x | ABCL C2DE
34 54 18-34 35-54 55+
Total 1006 146 173 172 144 175 19 553 453
(1006) (92) (189) (189) (144) (191) (201) (639) (367)
100%|  100%;  100% _ 100% _ 100% _ 100% __ 100%|  100% __ 100%
How would you feel about Base: All 1006 146 173 172 144 175 196 553 453
them conceding each of the
following as a condition of (1006) (92)  (189).  (189).  (144).  (191)] (201)| (639)  (367)
support? ...the reintroduction [T'wouid support this 607 g5 117 114 69 103 110 335 273
of a 50p tax rate for people | concession
earning over £150,000 ! 60% 65% 67% 66% 48% 59% 56% 61% 60%
T'would oppose this concession 203 40 31 41 26 23 41 126 77
and would prefer there to be
Iother clection 20% 27% 18% 24% 18% 13% 21% 23% 17%
Don't know/ Not sure 136 i1 35 i8 48 43 45 93 105
19% 7% 14% 10% 34% 28% 23% 17% 23%
How would you feel about Base: All 1006 146 173 172 144 175 196 553 453
them conceding each of the
following as a condition of (1006) (92) (189) (189) (144) (191) (201) (639) (367)
support? ...pressing on with  [T'wouid support this 34| 75 68 65 41 53 6 185 154
further devolution of powers to |concession
Scotland, Wales and Northern 35% 52% 39% 38% 29% 31% 24% 35% 34%
Treland T wouid oppose this concession 323 41 55 79 19 55 75 215 108
and would prefer there to be
rother clestion 32% 28% 32% 46% 13% 31% 38% 39% 24%
Don't know Not sure 334 30 50 28 84 67 75 143 180
33% 20% 29% 16% 58% 38% 38% 26% 42%
What would you prefer if Base: All 1006 146 173 172 144 175 196 553 453
Conservatives win more seats
than Labour but would not (1006) (92)  (189)  (189).  (144).  (191); (201)| (639)  (367)
have an overall majority and  [The Conservatives to continue 342 49 62 70 36 48 78 216 126
Labour with the SNP combined |; t et
would command a majority of |pary Gl 349% 33% 36% 1% 25% 27% 40% 39% 28%
seats? Labour and the SNP to form a 290 51 48 46 45 49 50 147 143
government 29% 35% 28% 27% 32% 28% 25% 27% 32%
Another election to be heid 241 33 39 47 26 46 51 131 110
24% 22% 22% 27% 18% 26% 26% 24% 24%
Don't know 133 13 24 s 37 32 17 59 74
13% 9% 14% 5% 26% 18% 9% 1% 16%

05/04/2015

ranelbase.com



JIN:W6836w2_GB

Base: 1,006 Total | DId you vote in the 2010 UK Parliamentary Election which led to David Cameron becoming Prime Minister? If 2015 Intention
S0, who did you vote for?
Conservative Labour Liberal SNP UKIP Green Party Other Did not |Conservative Labour Liberal SNP UKIP Green Party | Plaid Cymru Other Don't know
Democrat vote/Can’t Democrat
remember
Total 1006 300 242 192 14 26 8 32 193 251 264 56 28 135 20 7 10 168|
(1006) (321) (205) (178) (33) (44) (19) (13) (193) (270) (238) (53) 37 (140) (45) (5) (6) (167)
100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100% 100%
How would you feel about Base: All 1006 300 242 192 14 26 B 32 193 251 264 56 28 135 20 7 10 168
them conceding each of the
folowing a0 a condition of (1006) (321) (205) (178) (33) (44) (19) 13) (193) (270) (238) (53) 37) (140) (45) 5) (6) (167)
support? ...the reintroduction  [Twouid support this 607 151 175 138 § 16 5 24 85 107 185 @3 21 56 28 5 5 56
of a 50p tax rate for people |concession
earning over £150,000 60% 50% 74% 72% 66% 62% 61% 74% 4a% 42% 70% 75% 76% 71% 68% 72% 6% 57%,
Twould oppose this concession 203 52 33 28 2 4 1 2 a2 88 40 10 4 21 7 3 [) 21
d would prefer there to b
o thor elestion rerene 20% 31% 14% 15% 12% 14% 7% 6% 22% 35% 15% 18% 16% 16% 18% 28% 0 13%
Don't know/ Not sure 156 57 25 26 3 [3 3 [3 65 57 40 P 3 i8 [3 [) 5 51
19% 19% 12% 14% 23% 24% 32% 20% 349% 23% 15% 7% 8% 13% 14% 0 54% 30%,
How would you feel about Base: Al 1006 300 242 192 14 26 8 32 193 251 264 56 28 135 40 7 10 168|
them conceding each of the
folowing a0 a condition of (1006) (321) (205) (178) (33) (44) (19) (13) (193) (270) (238) (53) (37) (140) (45) ) 0] (167)
support? ...pressing on with  [Twauid support this 345 75 106 78 11 P 3 8 66 65 116 26 23 a4 24 3 i P
further devolution of powers to |concession
Scotland, Wales and Northern 35% 25% 4a% 40% 78% 16% 22% 25% 349% 26% 42% 35% 82% 33% 60% 43% 11% 26%
Ireland T would oppose this concession 323 153 64 52 2 1s 2 6 29 119 67 21 4 56 4 [) 3 44
and would prefer there to be 32% 519% 27% 27% 12% 60% 21% 19% 15% 47% 26% 36% 13% 41% 10% ° 32% 26%
another election
Don't know/ Not sure 334 73 71 62 i 3 5 18 57 67 86 16 i 35 12 [3 79|
33% 24% 299 33% 10% 24% 57% 56% 51% 27% 33% 29% 5% 26% 30% 57% 57% 47%,
What would you prefer if Base: All 1006 300 242 192 14 26 B 32 193 251 264 56 28 135 20 7 10 168
Conservatives win more seats
han Labour Bt would mat (1006) (321) (205) (178) (33) (44) (19) 13) (193) (270) (238) (53) 37) (140) (45) (5) (6) (167)
have an overall majority and [The Conservatives to continue 343 201 25 57 i 13 i [3 40 183 18 2 5 48 [3 3 3 P
Labour with the SNP combined i t inori
would command a majority of |pary Gl 349% 67% 10% 30% 9% 46% 10% 19% 21% 73% 7% 399% 19% 35% 14% 28% 32% 27%
seats? Labour and the SNP to form a 290 1s 130 60 11 3 2 10 58| 6 155 16 22 22 15 3 1 35|
t
governmen 29% 5% 549% 31% 81% 11% 26% 31% 30% 2% 599% 28% 79% 17% 47% 4a% 11% 21%
Another election to be heid 2a1 70 55 53 i 8 3 7 a3 a3 61 16 i 56 13 3 [3 38|
24% 23% 23% 28% 8% 31% 40% 22% 22% 17% 23% 29% 3% a1% 31% 28% 57% 23%
Don't know 133 14 31 22 ) 3 2 s 51 20 30 3 [) ) 3 [) [) 49
13% 5% 13% 11% 3% 20 4% 7% 27% 8% 12% 5% ° 7% 8% ° ° 29%

05/04/2015

ranelbase.com



